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Probability
->

Experiment
H

coin toss
outcome chance

measure

-
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50%
50%



Random Experiment #ind
vs As
-

-

Si Lanka
= -

Experiment in which probable outcomes are known
.

-

Example-

Toss of a win .
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Sample Space & Point
collection of all possible outcomes.

sample point
.

Coin toss XL
S = [H , Y A die is

rolled.

↓ S = 91 , 2, 3, 4 ,
5 , 64

sample pointspace



Equally Likely EventEt= P(F)

Having same chance of occurance.

Coin toss F is an event

3 = \n , T}u(S)
= 2 so we getT

F = 3 + 3
E is

an event

so we get
1 I n(f) = 1

E = 944 u(E)
= 2

%
P(F)==

=

PLE)=50



Mutually Exclusive Event

If E> and E are two events and

Coin toss
E , nEz

= & then E ,
and E are

S=(H ,
T) Mutually Exclusive Events.

E , = 34
.3

E , nEz = 53=
Ec= ST ]



If A and B are two mutually exclusive events,
what is P(AB)?
(a) 0 
(b) P(A) + P(B)
(c) P(A) P(B) 
(d) P(A) + P(B / A)

P(A . B) = P(An B) = P((q-

= 0

-
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Favourable Events
No. of cases favorable for an event.

A die is rolled.

S = (1 , 2 , 3 , 4 , 5,6)

A is an event
so that weget a

even no

A = 52 , 4 , 63



Complement of a Event
Denoted as

(E ,

AS
, Al

n(s)
=

A is an event ofgetting even no.

when a die is rolled.

A= 32 , 4 , 6) MCA) =3
PLA) = 316 = 1/2

#1 , 3 , 53 P(E) + P(E) = 2
T

P(A) = 316 = /

P(A) +PLA



SReplacement No Replacement
Independent and Dependent Events.

↳ LEYE TLIBES-

2. 1. 14
T

You chose box
2.

EReplacebox 2 with another box E
-



A bag contains 5 white and 3 black balls and 4 balls are 
successively drawn out and not replaced. The probability 
that they are alternately of different colours, is 
(a) 1/196
(b) 1/7
(c) 13/56
(d) 3/7

P(WBWB) + p (BWBW) n(s) = g-
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A coin is tossed 4 times. The probability that
atleast one head turns up, is
(a) 1/16
(b) 2/16
(c) 14/16
(d) 15/16

1 = 2

=
n(s) 2 = 22

3

3 = 2
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- L

SITT) ⑮
T



In tossing a coin twice, let E and F denote
occurrence of head on first toss and second toss,
respectively. Then, P (E⋃F) is equal to
(a) ¼ 
(b) ½ 
(c) ¾ 
(d) 1/3 

⑭ HT TH TT E = \n4 , uT3
= F-- F= Sun , in
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f n(EUF) =2O40



If A and B are two events, such that
P[A U B]= P[A], then
(a) events A and B are mutually exclusive
(b) events A and B are statistically independent
(c) event B is a subset of event A
(d) event A is a subset of event B

A = 31 , 2 , 3311 ,
2, 3) HABI

&B = 323
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5 boys and 5 girls are sitting in a row randomly. The 
probability that boys and girls sit alternatively, is
(a) 5/126
(b) 1/42
(c) 4/126
(d) 6/126

B n(S) = 10!
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A lot of 4 white and 4 red balls is randomly divided into 
two halves. What is the probability that there will be 2 red 
and 2 white balls in each half?
(a) 18/35
(b) 3/35
(c) ½
(d) None of these
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Which of the following numbers is nearest to the
probability that three randomly selected persons
are born on three different days of the week?
(a) 0.7 (b) 0.6 (c) 0.5 (d) 0.4

S

=7 A
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